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Statement (1) ALONE is sufficient, but statement (2) alone is not
sufficient to answer the question asked. B. Statement (2) ALONE is
sufficient, but statement (1) alone is not sufficient to answer the
question asked. C. BOTH statements (1) and (2) TOGETHER are
sufficient to answer the question asked, but NEITHER statement
ALONE is sufficient. D. EACH statement ALONE is sufficient to
answer the question asked. E. Statements (1) and (2) TOGETHER
are NOT sufficient to answer the question asked, and additional data
specificto the problemareneeded. 2. D O U OO0 O OO OOOO
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ABC is the base word. (2) If C immediately follows B, then C can be
moved to the front of the code word to generate another word. [ [
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